Reconstructed as:

D decay Component B— DK* B—s Dt
D— K3rTn~ BT = D*[Dr]K= 6244 + 12 2716 +5
B* — D*[Dr%|n* 340 +1 113170 + 229
B* — D*[Dy]K* 3144 + 6 1247 + 2
B* — D*[Dr]n* 166 + 1 60 285 + 121
B* - DK* 10398 + 21 4726 + 9
B* — Dr* 590 +1 196 804 + 398
Other backgrounds 10402 + 105 206 664 + 592
Combinatorial background 1343 + 147 15177 + 706
D— K§KTK~ BT — D*[Da’]K* 790 + 3 344 + 1
B* — D*[Dr|x* 43 4+ 1 14327 + 65
B* — D*[Dy]K* 397 +1 157 +1
B* — D*[Dr]n* 21 + 1 7636 + 34
B* - DK* 1527 + 6 694 + 2
B* - Dot 8 £ 1 29786 + 135
Other backgrounds 1573 + 15 31278 + 115
Combinatorial background 263 + 46 4413 + 261




